Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

&
addazu

Find out the odd word/letters/number/ number pair from the given alternatives.

feu T Jarcdl # ¥ fAWH 2ee/aul/TEAT T TTT Y

(a) Banyan/ SX7I¢

(b) Pine/ gdeR

(c) Spruce/ TH

(d) Fir/fm

Find out the odd word/letters/number/ number pair from the given alternatives.
feu 1T RAreul & ¥ /AYA 2Uec/auT/TE&IT FT TIT HY

(a) MG

(b) QK

(c) VN

(d)yuo

Find out the odd word/letters/number/ number pair from the given alternatives.

fou v fasheul & & AW Use/quT/TEAT FHI TIT B
(a) 4267

(b) 2498

(c) 2739

(d) 5496

Find out the odd word/letters/number/ number pair from the given alternatives.
few v faeredt & & AW 2reg/aul/dTAT T TAT FY

(a) 8912

(b) 3469

(c) 5555

(d) 6734

Which set of letters when sequentially placed at the gaps in the given letter series shall complete
it?
fArfaf@d gea &, T a0 oF s{@elr &7 IJRTT W HhiAR T F W Sl T IHERT M
disT T AT S8 QA HWM

RRB NTPC

(a) trts

(b) rtst 201 9

(c) trst

(d) tsss
In a compass, west direction is shown as south. As per the COM PLETE KIT

compass, which direction should a man go to, if he wishes to | RSN NI Y B : 10
move towards the east?

SFarg H, 9fegd feem & gfaror & ®9 # fG@mr 3w gl 100+ Total Test
FFAT & 310K, U AT 3 g & F =T afew 1 Hindi Printed Edition Book
3R 9§ qd I 3R §Gall ATgar o7 gRo0s
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Q7.

Q8.

Q.

(a) North/

(b) South/

(c) East/

(d) West/

A piece of paper is folded and punched as shown below in the question figures. From the given
answer figures, indicate how it will appear when opened.

Teh TS & gehs I A A T fohar arm Siam T e geifar arn g, o few o ==t &
AT St fob @rel ST 9X I8 Tohd YR &1 fG@a.

Y &
(a)

Akhil is the maternal uncle of Rashmi. Rashmi is the daughter of Ramesh. How is Ramesh related
to Akhil?

F@T I 1 AAT T IR, @Y H §ET F @Y JW@T T FY ge9iDa g7

(b)

(c)

(d)

(a) Brother-in-law/s@¥-3q-At A adda-

(b) Brother/ ‘3:|'|_§ publications

(c) Father/fiaT A COMPREHENSIVE
(d) Cousin/=fr= GUIDE FOR

If a mirror is placed on the line MN, then which of the answer RRB NTPC STAGE-1& 2

Useful for Clerk | Level-11Ministerial 8 lsclated Categories and Other Exams

(P&t wream)

figures is the right-image of the given figure?

Ife @I MN W T eUul @ T, df [eaf@a & &

HiT TT 3] T ufeaa & ger ofa greie
M
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(@) F

Y%
(b)\a@-

@ =
(e
&
Q10. Identify the diagram that best represents the relationship among the given classes.

39 3IRNE FH Ugale o U 91T goif & g Faeil &1 g9 3aT Jiafafocg ear g

Primary colors, Red, Black
AR 9T, oo, Frell

(a)

(b)

&
©o

(c)

(d)

Directions (11- 13): Study the following diagram and answer questions based on it.
frafaf@d 3@ & Fegaed # 3R 38F MUR W 921 F 3cck &
The diagram represents the likes of children in a society.

3INW Th FATS H @i s gd¢ &1 gfafaftcad FHar gl

15

Tiger
30 3 l:] Leopard
20| 35 O Do
ol 5
45

Q11. The difference between children who like leopard to those who like tiger is
g3 THe YA dTel aedl 3R S8 9He e dTe Sl & &l AR 4T §?
(a) 50
(b) 35
(c) 30
(d) 5
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Q12. How many children like both lion and leopard?
forcter Tt 1 AN 3R TG Al e §?
(a) 35
(b) 55
()90
(d) 95
13. How many children who like lion, also like the tiger?
fohder a0 e R 9¥G §, 3¢ o o &g g7
(@)5
(b) 15
(c) 35
(d) 40

Directions (14-17): A series is given with one term missing. Choose the correct alternative from the
given ones that will complete the series.

T H@el &) 7S & ToEd U oo A & W9 RBU v Repedt F ¥ 39 Thed ST ahed el

¢ Sl 3H AWell & T HWM?
Q14. Troposphere, Stratosphere, Mesosphere, ?

CIGIEhIRIY, FESTEHIIT, AAIEHIAN,?
(a) Exosphere/ afgase

(b) Thermosphere/ URATHRR

(¢) Tropopause/ &r$THST

(d) Ozone Layer/ 37Sild TRl
Q15. AZ BY,CX,?

(a) WD A gﬂtﬁli:aatiuns
(b) DW
(c) DE A COMPREHENSIVE
(d) DX GUIDE FOR
Q16. DM,EN,FO,? RRB NTPC STAGE-1& 2
(a) FG Upaful for Cherk | Lewel<1 Iﬂnlmrhlimﬂﬂ;xg:;:;:::n:
(b) HI 5
@ S i
HP uestions actice
Q17. 79,159,199, 219,? : . 1G0s f Genera : ey
aral Sclence Detal ;
(a) 229 5 - Keatminer hfxg:;tﬁ;:::w
(b) 234 Pl"EU'iOI.IIS Question
E;)) 22 5;‘; il

adda
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Q18.

Q19.

Q20.

In the following question, two statements are given each followed by two conclusions [ and II. You
have to consider the statements to be true even if they seem to be at variance from commonly
known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

A RU I g H, ar #ya fev av § S a9 & fasey 13k 11 few arv & e few
AT FYAT P G AT § A & 9 FaaAd dzai & @ g 89 & R 3muer
fefiia @tar § & Ife v o Fsast & @ *la @1 fow a1v et &7 egeror Hiar ¢.

Statements:
(I) Some polynomials are linear equations./ &¥sT: (I) $S SgUa I HERT §

(I1) Some linear equations are quadratic./ (I) $& Y& HHFIOT gfaerd g

Conclusion:

(I) some Polynomials are quadratic./ fas&w: (1) IO dgUC AELIG gl
(I)some quadratic are Linear equations./ (II) & AERIGIRCE IR EIC T i
(a) Conclusion I follows/ ~ fe¥Sehy [ 37EROT &Il &

(b)ConclusionlI follows/ T¥Seh¥ 11 3eT&XOT YT &

(c) Neither I nor II follows/ & af 13K o &r 11 3T HIOT Tl g

(d) Both I and II follows/ 13 11211 3el&R0T &Il &
Which signs should be interchanged if the equation below needs to be true?

gTe A fGU T FHIOT FF TET FIAT &I, dl el Tohdl ol 39T H dGell Sl aTgu?
2+ 16-2+6x1=0

(a) x and -/x 3R -

(b) - and +/- 31X +

(c)-and + /- 3R =

(d) +and x/+ 3R x

A statement followed by some conclusions are given below.

Us U fear o § s Fo vy o R o @

Statement: The price of pulses has increased steeply./ Hel: &lell $T HIAT # AT g g‘é’ g
Conclusions:/feTsa:;

. People cannot buy pulses./ ST STel oTgl WG Tehdd

II. Pulses have become a rare commodity./ Tel Teh ?ﬁ? ER-_ST ol 31%’ %‘
Rind which of the given conclusions logically follow from the given statement.

T T Fuet F F FiT @1 FwY AfFe FT F TR FT ¢
(a) Only conclusion I follows./&ael oSy | HJHIOT T g

(b) Only conclusion II follows./ Fael fasHy 11 HTEIOT hIAT g

(c) Both I and II follow./ 13iR 11 g1t 3eTEXOT Crrs i

(d) Neither I nor I follows./ & &f 13X & & 11 3TeTHROT T 3
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Directions (21-23): Consider the following information and answer questions based on it.
ffaf@d Faefl W AR #¥ 3R s6F 3R W Toat & 3w &

Five pickles - mango, lime, tomato, gooseberry and garlic are kept in five jars, in a row, in a random
order, from left to right.

qr 3R - 31MH, fAeg, TATe, 3iTael 3R o8 F Ui SR H, U Uidd #, Ueh Iefeosh e H, d
¥ T W@ AT g

1. Gooseberry is not on either extremes./ 3dell Gl & & fhaT 8 FHI¥ W AT §

2. There is one jar between mango and garlic./3TH IR clg et FITHTH I &

3. Tomato is placed on the left side oflisme./EFIET,o'-ﬁ?-_q:\ & 90 AR @ §

4. The second jar from the left contains garlic./ T 3T T C}\HQ SR # g dd %’
Q21. There are two jars between which of the following-

frfaf@a & & fras T of ok &

(a) Lime and Gooseberry/ﬁ?%f\ 3R g

(b) Gooseberry and Tomato/37TdelT 3R THATR
(c) Mango and Lime/3TH 33T ﬁ?-_q;

(d) Tomato and Mango/cHTeX 3R 3TH
Q22. Lime isin the jar from left.

o aT¢ & HT & oW F 7
(a) Fifth/9rarar
(b) Fourth/<iter
(¢) Third/dreR
(d) First/gger

Q23. The middle jar contains
9T & SR H FT 87
(a) Mango/3TTH
(b) Tomato/cHTCY
(¢) Gooseberry/3TTaell
(d) Lime/ﬁ?-_ql'\

Q24. The age of A is three times the age of B. What is the ratio of the
age of B to the age of A?

A®Y 3T BE 3 H AT T §1 B 3§ AR 3 RRB NTPC STAGE-I
I 3T T 87

25 Previous Year Papers

(@)1:3
(b)11_= ;l Online Test Series
3.1
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Q25.

Arrange the given words in the sequence in which they occur in the dictionary.

feT 71T erecl @I ersaTdel & TR TATEYd HIf.

i. Attribute

ii. Attenuation
iii. Attain

iv. Attention
(a) iii, iv, ii, i
(b) iv, i, iii, ii
(c) i, iii, ii, iv
(d) i, i, iii, iv

Q26. In a certain code language, "FAILURE" is written as "FRULIAG". How is "SUCCESS" written in that
code language?
fordl fAfReT e oS A, "FAILURE" &1 "FRULIAG" & &9 # for@r oirem 8. 341 g oo &
"SUCCESS" foher ag fer@r smwem
(a) TSECCUT
(b) SSECCUS
(c) TSECCUS
(d) TSECCUU
Q27. Inthe following question, select the missing number from the given series.
fAefaf@d e &, & TR J@er A F ATT TEIT oA TIT H.
71113 | 161
217 &
3|4 5
(a) 31
(b) 36
(c) 280
(d) 161
Q28. If "A" denotes "added to", "B" denotes "divided by", "C" denotes "multiplied by" and "D" denotes
"subtracted from", then 154 B11C6 A6 D 27="?
gie “A” STAT i, “B” HT &I, “C” IO &I 3R “D” TeT HT Gl &, 154B11C6A6D 27=?
(a) 60
(b) 63
(c) 33
(d) 64
Q29. Looking at a photo, Anand said, “This man is the eldest son of my father’s mother-in-law”.How is
Anand’s mother related to this man?
waﬁTaﬁa@ﬁgtr,amqﬁq»sl, Ig AT A Tar &7 g &1 ggd §97 9T g'| e
$r AT 59 GHAT § hH FEAd 82
(a) Mother/#T
(b) Daughter/siér
(c) Maternal Aunt/HTHY
(d) Sister/digeT
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Q30. An assertion (A) and a reason (R) are given below.
T AfAFUA (A) 3R Tk FROT (R) i few a0 &
Assertion (A): Leaves are green in colour./ 3f&&2e (A): Ufcaar gt T T gidr gl
Reason (R): Chlorophyll, a green pigment is present in leaves./ &RUT (R): FRIThel, gfcadt #
Teh g1 quTeh HiSE §IdT 8l

Choose the correct option.
Tl Aeed &1 TIT F

(a) Both A and R are true and R is the correct explanation of A/ A 3R ReEr @ § 3R R AFH
e AT §

(b) Both A and R are true, but R is not the correct explanation of A/ A 3iR R &Il T g olfchel
R, Al T SATEAT AL &

(c) Aistrue, butRis false/A §cI %’, JfheT R 31T a'

(d) Ais false, but Ris true/A 3/cT § oifched R AT &

(, addazyi
‘ 3 test seri . A o,
RRB NTPC 2019 -PRIME
STAGE 1 “ TEST SERIES
et d

RRB NTPC Prime

35 TOTAL TESTS

v 20 Full Length Mocks
v 15 Section Wise Tests

300+ Test 12 Months
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